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Q . Attempt all the questions.Choose the correct alternative. (20M)

1.The full form of VBP is

A) Visual Binary Project B) Visual Basic Project

C) Very basic Project D) Visual Basic Parameter

2.A control named cmdExit is most likely a

A) Command button B) Label

C) Option button D) Text Box

3. In a VB project, the form design is carried out in the window.
A) Properties B) Tool Box

C) Project Explorer D) Form window

4. is the final keyword used to indicate the end of a sub procedure.
A) Exit Sub B) End Sub

C) Exit D) Quit

5. The full of SET in E-Commerce is

(A)Secure Electronic Tax (B) Secure Electronic Transaction

(C) Secure Electronic Territory (D) Secure Electronic Tunnel

6.In E-commerce, to authenticate the sender of the message we use
(A) Digital Signature (B) Privacy Protocol
(C) Digital Sending (D) Digital Protocol



7. Commercial transactions done with the help of cell phones is called
(A) E-Commerce (B) M- Commerce

(C) E-Business (D) none of these
8.Conversion of coded data into readable data is called
(A) Firewall (B) Decryption

(C)Encryption (D) Password

9.Criminally acquiring passwords is called

(A) Encryption (B) Public Key
(C) Hacking (D) Decryption
10. Option buttons are also called as buttons.
(A) Check (B) Radio

(C) Round (D) Select

11. control can be used to accept input from the user.
(A) Label (B) Form

(C) Text Box (D) Frame

12. icon is not available on a toolbox.

(A) Form (B) Label

(C) Text Box (D) Check Box

13.To count the number of cells that contain numbers, we use

(A) COUNTY() (B) COUNTA()

(C) SUM( ) (D) COUNTIF( )

14.In Excel charts are available under Ribbon/Menu.
(A) Home (B) Insert

(C) Data (D) View



15. To convert uppercase alphabets to lowercase we use
(A) LCASE() (B) LOWER( )
(C) UPPER() (D) UCASE()

16.What will be the answer of =MID(“COMMERCE”,3,2)?
(A) OMM (B) MME
(C) MM (D) ER

17. To find number of characters in a string we use
(A) COUNT{() (B) LEN( )
(C) LENGTH( ) (D) SUM( )

18. Cell A2 contains a text COMPUTER. What will be the answer of =LEFT(A2)?
(A) A2 (B) A

(C) CO (D) C

19.Flipkart.com is an example of

(A) B2B (B) B2C

(C) C2C (D) P2P

20. statement cannot be used to create a loop.
(A) Do — While (B) For — Next

(C) While (D) If - Else



